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) from datetime import date

J import matplotlib.dates

: from pylab import Figure,plot,show,legend
S From numpy import array,cos,pi

) day = int(input("Enter the birth day (dd)
1
) year2 = int(input(“Enter the target year (yyyy)

)

S targetDays = int(input(“Enter number of target days:”))

S month2 = int(input("Enter the target month(mm
: day2 = int(input("Enter the birth day (dd)

i t0 = date(year,month, day) . toordinal()
late(year2, month2,day2).toordinal()

array(range((t1-targetdays) , (tl+targetdays)))

106" [cos(27pi* (t-t0)/23),
cos(2+pi*(t-t9)/23),
cos (2+pi*(t-t0)/32)];

label - []
For p in t

. Label..sppend (dste. Fromordinl (p))

)

tig - Figure()

ax - fig.geal)

 plot(label,y[0], label,y[1], label,y[2])
:

5 legend(["Physical’, 'Emotional’, 'Intellectual'])
7 ax.xaxis. set_major_formatter (matplotlib. dates.DateFormatter('%d/2b/%y "))
;
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the birth month(mm):12

the birth day (dd) :13

the target year (yyyy)
the target month(mm):12
the birth day (dd) :15

number of target days:12
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Plot biorhythm. Includes secondary pulses
2011-05-29

From http://glowingpython.blogspot . con/2611/67/how-to-plot-biorhythm. html
and http: //www. spiritualplatforn.org/library/biorhyths.html

from datetime import date
import matplotlib.dates

from pylab import plot,legend,show,axhline,grid,xLim, figure, title,savefig
from numpy import array,sin,pi

year = int(input("enter the year of birth(yyyy)
month = int(input(“enter the month of birth(mm):
day = int(input("enter the day of birth(dd): "))

rangeInays = int(input(“enter the days in the range: *))
def sig(a):

iF gv-0: return 1

return ©

0 = date(year,month, day) . toordinal()
1 = date. today() . toordinal ()
t = array(range(t1-rangeInDays, tl+rangeIndays))

y=  (sin(2%pi*(t-t0)/23),
sin(2pi*(t-10)/28),
sin(2°pi* (t-t8)/33))
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Traceback

year of birth(yyyy): 1996
month of birth(mm): o1
day of birth(dd): 13

days in the range: 23
(most recent call last):




image11.png
100

o075

050

025

000

025

050

075

Lo

20150508

2150515

2150522

201505 28150601

20150608

190615

20150622




image1.png
import datetime
From math inport sin
def getBiorhythm(zd):

returns the three biorhythm values, given the days since birth zd
56 is center value, higher values are better
pi = 3.14159
2d = int(zd)
physical = int(s6 * (1 + sin((zd / 23.6 - (zd / 23)) * 366 * pi / 180)))
emotion = int(50 * (1 + sin((zd / 28.0 - (zd / 28)) * 360 * pi / 180)))
intellect = int(s6 * (1 + sin((zd / 33.6 - (zd / 33)) * 366 * pi / 180)))
return physical, emotion, intellect
print ("This program calculates your biorhythm values based on your age in days.
print ("The values for a seven day period are given, with today in the center.
print ("This allows you to see, if you are in a decreasing or increasing cycle.|
print()
bd = input(”

nter your birthday (format = mm/dd/yyyy}
")

birthday = datetine.date(int(dL[2]), int(dL[e]), int(dL[1]))

dL = bd.split(

today = datetine.date. today()

age = (today - birthday).days

p=1[]
e=1]
i=1]

for ax in range(age-3, sgesd):
P, ex, ix - getoiornythn(ax)
p-append (px)

, birthday. strftime("%d%b%"))
. today.strftime("%d%b%"))

osey
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Enter your birthday (format = mm/dd/yyyy): ©5/12/1996

Birthday = 12May1996
Today 2aMay2019
Age in days = 8416

Here are your biorhythm values (higher values best)

Days from today -3 -2 -1 @ 41 2 43
Physical  : S S8 S8 s 58 50 50
Emotional se se se se se se so
Intellectual : 5S¢ 5S¢ 5S¢ 5S¢ Se 5o 5
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From datetine inport date
import matplotlib.dates

#rom pylab inport figure,plot,show,legend
From numpy inport array,sin,pi

year = int(input("Enter the year (yyyy)
month = int(input("Enter the month(mm):"))
day = int(input("Enter the day (dd) :"))
targetDays = int(input("Enter number of target days:))

late(year,month, day) . toordinal ()
late. today() . toordinal ()
o array(range((t1-targetdays) , (tl+targetdays)))

¥ = 100%[sin(2*pi*(t-t0)/23),
sin(2%pi*(t-t0)/28),
sin(2%pi*(t-t0)/33)];

label = []
For p in
1abel.append(date. fromordinal(p))

fig = figure()

@ ig-gea()

plot(label,y[@],label,y[1],1abel, y[2])

legend(['Physical’, ‘Emotional’, ‘Intellectual'])

ax.xaxis. set_major_formatter(matplotlib. dates.DateFormatter('%d/%6/%y "))

show()
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